# Division (International) with a Helper Grid Name:
Solve each problem. Answers

) 918: 6 2 314 :/3 =

3 175 : 2 = 4 656 : 4 =

5 773 : 5 = 6) 894 : 8 =

1-6 |83]|67]50[33][17] 0 |
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ﬂh Division (International) with a Helper Grid Name.Answer Key

Solve each problem. Answers
1) 918 : 6 =153 2) 314 : 3 =104r2
5 1 153
- -3
31 01
130 o 2. 104 r2
18
1]4 s 87r1
-118 -1/2
0 2
4 164
5. 154r3
6. 111r6
3 175: 2 =087r1 4d 656 : 4 =164
-0 -4
17 25
.16 -124
15 16
-1114 -116
1 0
S 773 : 5 =154r3 6) 894 : 8 =111r6
-5 -8
27 09
.25 -8
23 14
-12/0 -8
3 6
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